


Algebra 2 3.5
Analyze data in matrices

Perform algebraic operations on matrices
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Algebraic Operations Several algebraic operations can be performed on data that
are organized in matrices. Matrices can be added or subtracted if and only if they
have the same dimensions.

‘( %' KeyConcept Adding and Subtracting Matrices

Words To add or subtract two matrices with the same dimensions, add or subtract their
corresponding elements.
A + B - A+ B
mbols (a b, [e f]_[ate bLIL]
. K - d.+.g h L c+g d+h.
A - _ B = _ A - B
a bl _|e fl_la—e b—f
Lc dl Lg h L Cc— d—h.
Example E —5] [ ] 3+42 -5+0
[ 1 F i -9 10 1+ (—9) 7+ 10




(if possible)

Example 2

. . |16 2] _[—4 —1] _[s]
FmdeachofthefollowmgforA—[_9 8 ,B= 3 -7 ,and C = 6l

a.A+B=E; I} IXN X 2%
-t |

b.B-C:[ }N?

C. B_A © [ =20 -3
6 -:SJ

SAME dimensions!
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Scalar~
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.00 <) Multiply a Matrix by a Scalar

f-12 8 6] ..
lfR—[___]6 1 19],fmdSR.
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Scalar...scale factor



GuidedPractice

8§ 0 3 -2

T=| ] . 5 o

, find —4T.



5" KeyConcept Properties of Matrix Operations

For any matrices A, B, and C for which the matrix sum and product are defined and any scalar k,
the following properties are true.

Commutative Property of Addition A+B=B+ A

sociative Property of Addition A+B)+C=A+(B+ ()
Left Sdalar Distributive Property _IgA + B)= KA+ kB

alar Distributive Property (A+ B)k= kA+ kB

-,

scalar multiplication is not the same as matrix multiplication...
—d —



Order of operations.... GEMA

Example 4

[-9 12 (-4 -8]. .,
IfA—[ y _6‘andB—[ y _3],f1nd 4B A3A.
-4qR -3A
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Practice
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